
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

η=10-6

× 10-3

d = 4.67 X 10-20 e-cm

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:55 2024

svert
slong

 



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

η=1.158 X 10-4

× 10-1

d = 5.4 X 10-18 e-cm

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:56 2024

sy
sz

 



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

θpitch=1 mrad

× 10-2

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:56 2024

svert
slong

 



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

θpitch=1 mrad

× 10-4

Filtered

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:56 2024

svert
slong'

 



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

Blong=10
-6

 By

× 10-4

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:57 2024

sy
sz

 



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

Bradial=10
-6

 By

× 10-5

Bradial uniform around ring

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:57 2024

sy
sz

 



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

Bradial=10
-6

 By

× 10-5

Bradial uniform around ring

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:57 2024

svert
slong

 



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  5  10  15  20
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

Bradial=10
-6

 By

× 10-5

Bradial limited to 72 deg arc

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:58 2024

sy
sz

 



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  1  2  3  4  5
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

Bradial=10
-6

 By

× 10-5

Bradial limited to 72 deg arc

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:59 2024

sy
sz

 



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  5  10  15  20
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

$d9/g-2/examples/example10/edm/plotting_scripts/spin_vs_fields.gnu

/Users/david/development/bmad_dist/g-2/examples/example10/edm

Bradial=4.3 X 10-5 By

× 10-4

s
lo
n
g

s
v
e
rt

time [us]
Sun Jun 23 10:29:59 2024

sy
sz

 



-20

-15

-10

-5

 0

 5

 10

 15

 20

 0  5  10  15  20

Bradial=4.3 X 10-5 By

v
e
rt
ic
a
l 
d
is
p
la
c
e
m
e
n
t 
[m
m
]

time [us]



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  5  10  15  20
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

Bradial=10
-5

 By

× 10-4

Bradial limited to 72 deg arc

s
lo
n
g

s
v
e
rt

time [us]

sy
sz



-25

-20

-15

-10

-5

 0

 5

 10

 15

 20

 25

 0  2  4  6  8  10

θpitch=1 mrad

v
e
rt
ic
a
l 
d
is
p
la
c
e
m
e
n
t 
[m
m
]

time [us]



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

Bradial=10
-5

 By

× 10-4

Bradial limited to 72 deg arc

s
lo
n
g

s
v
e
rt

time [us]

svert
slong



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

η=1.502 X 10-6

× 10-3

d = 7 X 10-20 e-cm

s
lo
n
g

s
v
e
rt

time [us]

svert
slong



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

Bradial=22 X 10-6 Bvert

× 10-4

Oscillating about closed orbit

s
lo
n
g

s
v
e
rt

time [us]

svert
slong



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

Bradial=22 X 10-6 Bvert

× 10-4

Oscillating about closed orbit

s
lo
n
g

s
v
e
rt

time [us]

svert
slong



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

Bradial=22 X 10-6 Bvert

× 10-4

Vertical closed orbit +1.37 mm

s
lo
n
g

s
v
e
rt

time [us]

svert
slong



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

Bradial= measured

× 10-4

On closed orbit

s
lo
n
g

s
v
e
rt

time [us]

svert
slong



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

Bradial= measured

× 10-4

On closed orbit

s
lo
n
g

s
v
e
rt

time [us]

svert
slong



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

Bradial= Bmeasured - <Bmeasured>

× 10-4

On closed orbit -0.259 mm

s
lo
n
g

s
v
e
rt

time [us]

svert
slong



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10
-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

Bradial= Bmeasured - <Bmeasured>

× 10-4

On closed orbit -0.259 mm

s
lo
n
g

s
v
e
rt

time [us]

svert
slong



 3

 3.2

 3.4

 3.6

 3.8

 4

 4.2

 4.4

 4.6

 4.8

 5

 0  0.015  0.03  0.045  0.06  0.075  0.09  0.105  0.12  0.135  0.15

Bradial= measured

Closed orbit

v
e
rt
ic
a
l 
d
is
p
la
c
e
m
e
n
t 
[m
m
]

time [us]



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  0.015  0.03  0.045  0.06  0.075  0.09  0.105  0.12  0.135  0.15

Bradial= Bmeasured - <Bmeasured>

Closed orbit

v
e
rt
ic
a
l 
d
is
p
la
c
e
m
e
n
t 
[m
m
]

time [us]



 3

 3.2

 3.4

 3.6

 3.8

 4

 4.2

 4.4

 4.6

 4.8

 5

 0  2  4  6  8  10

Bradial= measured

Closed orbit

v
e
rt
ic
a
l 
d
is
p
la
c
e
m
e
n
t 
[m
m
]

time [us]



-1

-0.8

-0.6

-0.4

-0.2

 0

 0.2

 0.4

 0.6

 0.8

 1

 0  2  4  6  8  10

Bradial= Bmeasured - <Bmeasured>

Closed orbit

v
e
rt
ic
a
l 
d
is
p
la
c
e
m
e
n
t 
[m
m
]

time [us]



-150

-100

-50

 0

 50

 100

 150

 0  60  120  180  240  300  360

B
ra
d
 [
p
p
m
]

Azimuth [deg]

Bradial


